&1 BEYPOHEHRE
— X i ¥ BEMR | BRR | —BR | RERERLEK 5 FE & R
/e &) CIRGEEY) 5
(i) (cm) (em) | A%k (ki /nd) (kg/10a) (#k/10a)
LAk FEX/NE 6.0 4 FEIE R = 30.0 | &:4& - 255 - -
2. FFXNE 6.0 4 FEIE R = 30.0 | &:4& - 340 - -
3.8985Z1L 11.2 3 BB X A FE 75.0 | 17.8 1 - - 7,491
4. K 5 9.6 3 o el 60.0 | 20.0 2 - - 8,333
5. /) 5 9.6 3 o el 60.0 | 20.0 2 - - 8,333
6. 3% 5 9.6 3 o el 60.0 | 20.0 2 - - 8,333
7. WL x 37.8 3 Rz AZE 75.0 | 30.0 1 - - 4, 444
8. TAEW 43.2 3 kAL B AR 2 A 60.0 | 23.8 1 - - 7,003
9. & i
2.7 4 FEIE X A ZE 30.0 | &:4& - - 2.0 -
(FEY—)
10. =ERE 10.0 2 ERE 30.0 | 10.5 1 - - 31, 750
T2 BEYPOHEBRE
Jiti I & (kg/10a)
[ ZES i %5
N P305 K,0 MgO HE e Z DAt
LAk EE/NE 6.0 20.0 9.7 3.8 A MBI N:3.0
2. BFEENE 10.0 18.0 12.0 5.0
3.8985Z1L 14.0 22.0 12.0 4.0 3, 000 B :150
4. K 5 1.8 15.0 7.8 3.0
5. /) =1 4.0 20.0 11.2 4.0
6. 3% 5 4.0 17.3 8.0 3.3
7. WL x 8.0 20.0 14.0 5.0
8. TAEW 15.0 21.3 13.8 5.0
0.8 H o4 B B
15.0 15.0 15.0 2.3
(FEY—) EASEIERAY
10. =ERE 15.0 30.0 15.0 3.5 2,000




